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PLAN VIEW

SEC. 35, T. 16 N., R. 8 E., 3RD P.M.

SEC. 35, T. 16 N., R. 8 E., 3RD P.M.

58

58

63&64

SPECIAL TILE

OUTLET HEADWALL

EXISTING PIPE CULVERT, TYPE 7F

(RCCP) 42"x254’

A.R. STA 550+00

1
0
"
 S

.S
.

EXISTING SPECIAL DUAL BRIDGE DESIGN

REINFORCED CONCRETE DECK ON

CONTINUOUS STEEL I-BEAMS 4 SPANS

@ 47’-2 1/2 ", 60’-6", 60’-6", 47’-2 1/2 " 

ALONG ~, 39’ ROADWAY, SKEW 0^-30"

STA 555+41.62

90^-26’-30" 89^-29’-30"

STA 555+80.26 (F.A.I. 57) =

STA 49+38.59 (RAILROAD)

 530  535  540  545  550  555
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PT Sta 311+25.82

PC
 Sta 313+47.51

EXIST. CURVE 36RMPC-1

PI STA. = 202+30.78

! = 16%%d 14’ 59" (RT)

D = 8%%d 18’ 00"

R = 690.31’

T = 98.55’

L = 195.78’

E = 7.00’

e = _____

T.R. = _____

S.E. RUN = _____

P.C. STA. = 201+32.23

P.T. STA. = 203+28.01

EXIST. CURVE 36RMPC-2

PI STA. = 204+04.74

! = 20%%d 13’ 26" (RT)

D = 13%%d 19’ 00"

R = 430.26’

T = 76.73’

L = 151.87’

E = 6.79’

e = _____

T.R. = _____

S.E. RUN = _____

P.C. STA. = 203+28.01

P.T. STA. = 204+79.88

EXIST. CURVE 36RMPC-3

PI STA. = 210+78.72

! = 140%%d 30’ 09" (RT)

D = 26%%d 39’ 02"

R = 214.99’

T = 598.84’

L = 527.20’

E = 421.27’

e = _____

T.R. = _____

S.E. RUN = _____

P.C. STA. = 204+79.88

P.T. STA. = 210+07.09

EXIST. CURVE 36RMPD-1

PI STA. = 309+86.59

! = 62%%d 05’ 46" (LT)

D = 19%%d 49’ 34"

R = 288.99’

T = 173.97’

L = 313.20’

E = 48.33’

e = _____

T.R. = _____

S.E. RUN = _____

P.C. STA. = 308+12.62

P.T. STA. = 311+25.82

EXIST. CURVE 36RMPD-2

PI STA. = 316+00.70

! = 60%%d 57’ 01" (RT)

D = 13%%d 19’ 00"

R = 430.26’

T = 253.19’

L = 457.70’

E = 68.97’

e = _____

T.R. = _____

S.E. RUN = _____

P.C. STA. = 313+47.51

P.T. STA. = 318+05.22
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STA 118+24.69 (RAMP B) =

STA 83+74.22 (U.S. RTE 36)

STA 0+00.00 (RAMP A) =

STA 83+00.21 (U.S. RTE 36)

STA 300+00.00 (RAMP D) =

STA 96+17.80 (U.S. RTE 36)

Sta 534+46.00, 85’ RT (FAI 57) =

POT Sta 200+00.00 (RAMP C)

Sta 544+94.88, 92.2’ RT (FAI 57) =

PT Sta 318+05.22 (RAMP D)

Sta 546+95.49, 76’ RT (FAI 57) =

POT Sta 320+06.48 (RAMP D)

S.N. 021-0009 (NB) & S.N. 021-0010 (SB)

EXISTING TWIN BRIDGE DESIGN

REINFORCED CONCRETE DECK ON

CONTINUOUS STEEL I-BEAMS

4 SPANS ALONG ~ OF ROADWAY

SKEW 1^

STA 529+58.53 (F.A.I. 57) =

STA 89+59.04 (U.S. RTE 36)

EXISTING FLUSH

MEDIAN INLET BOX

2A

2A

SECTION (15,21-25,21-26,27)RS-1

ENDS STATION 547+00.00

PAVED

DITCH

F.A.I. ROUTE 57 (SOUTHBOUND)

F.A.I. ROUTE 57 (NORTHBOUND)

HMA SURFACE REMOVAL - 3 1/4 "

LEGEND

STA 218+19.00 (RAMP C) =

STA 95+43.80 (U.S. RTE 36)

EXISTING PIPE CULVERT, TYPE 2A

30"x137’

RT STA 541+00

RAMP B

RAMP A

RAMP C

RAMP D

RAMP D
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HMA SURFACE REMOVAL - BUTT JOINT

FOR DETAIL, SEE SHEET(S)

FOR DETAIL OF MEDIAN ISLAND

AND STRIPING, SEE SHEET

FOR DETAIL OF MEDIAN ISLAND

AND STRIPING, SEE SHEET
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